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Answer any FIVE (05) questions only. Each question carries 20 marks.
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. (iii)l

Briefly explain, what is the control unit of a computer explaining at least three activities

done by the control unit? (6 marks)
State an advantage that can be achieved by increasing the size of the main memory in
terms of running a program. (6 marks)

Assume that you have been consulted to advice the best type of printer to buy for a
lawyer and for the Department of Management Studies, OUSL. State the type of printer
that you will recommend for each party along with evidence for such a decision. State
your assumptions. (8 marks)

Assume that Maha Vidyalaya in Kalutara District has got some new computers.
Describe how a computer can be used to make their day to day activities easier.

. " (5 marks)
It is planned to get internet connection to some of the computers and allow year 12
students to use it for their studies. Describe how the Internet can be used to enhance
learning, considering the features of the Internet. ' (5 marks)
Briefly, explain how multimedia: applications could be used on the Internet to increase a
business's market and to give it a competitive advantage. (5 marks)
Compare and contrast Internet with Intranet with respect to their features in providing -
services, (5 marks)

The operating system is arguably the most important piece of software that runs on a
general-purpose computer. Why the operating system is considered such a key element
of a general-purpose computer? : (8 marks)
Windows and Linux operating systems are competing for the world market for personal
computers. What are the fundamental differences between these two operating systems
and explain why Windows and Linux are locked in such a gigantic struggle?( 4 marks)
Briefly, describe different sources of obtaining software for general purpose
applications as well as for specific needs of an organization. (8 marks)
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) Briefly compare and contrast main traditional database architectures - hierarchical,
network and relational. Provide real world examples where these architectures can be
implemented, 3 ' (7 marks)

(i)  Assume that you have been asked to implement a new database management system 1o
replace an earlier text based application. Discuss the new features that you will include
into the new database management system along with the functionalities that you will
provide the users. (7 marks)

(iii) A database has to be constructed for a new in-patient system in a hospital. Each ward in
the hospital has its own number. The number of beds in each ward is also recorded.
Each-ward has a fixed number of nurses. Each nurse works in one ward only. Patient
details are recorded when they arrive and this includes name, address, telephone
number, date of birth, doctor's name and marital status. When admitted to the ward;.
each patient is assigned a consultant who is responsible for the treatment of his/her
patients. The patient's temperature, blood pressure and weight are recorded.

Construct 2-3 relational tables to represent above data. You should clearly indicate the

fields in each table along with primary and secondary keys. . (6 marks)
Qs. _
() - Describe and explain the key features and beneficiaries/users of the following
Information Systems. '
a) BExecutive Information System
&) Management Information System
‘ ¢) Transaction Processing System (9 marks)
(i)  Briefly explain some real world example scenarios for Information Systems stated in
part (i), a-c. ‘ (6 marks)

(i)  Due to present increasing requirements of different nature, functioning only with a_ '
single Information System is not a realistic scenario for an expanding trading g
organization. Comment on this statement and give possible alternative solutions.

(5 marks)
Q6. () Top Sales is a local business organization and it has branches all over the country. The

company plans to link all the branches together. Briefly explain what sort of computer
network they should implement by describing the advantages of doing so. (8 marks)
(i)  The Company expects to expand its business globally. Describe how you would

motivate the company to go for e-business. ' (4 marks)

(iii)  Describe the benefits that the company can get from the Internet to market their i
products. : : (4 marks)
(iv)  Describe how B2B process will help Top sales organization to be in the market edge. ‘
(4 marks) ;.
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